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USN
Fifth Semester B.E Degree Exam_iniatlbn, June/July 2023
Environmental Studies
(COMMON TO ALL'BRANCHES)
Time: 2 hrs.] - , [Max. Marks: 100

INSTRUCHQNS TO THE CANQ_'fi)ﬁTES

1. Answer all the hundred questlons each question carries one mark.
2. Use only Black ball pomt p’en for writing / darkenmg the circles.
3. For each question;. aﬁer selecting your answer darken the appropriate circle
corresponding to the same question numbef"e'n the OMR sheet.
4. Darkening two circles for the same quesndn makes the answer invalid.
5. Damaging/overwriting, using whiteners on the OMR sheets are strictly prohibited.
1. How many parts are there in the forest ecosystem? = . . b
a) One b) Two c) Three d) Four-
2. On which factor forest ty‘pe"ls mainly dependent | ’
a) Abiotic _.b) Size of forest,%aw
c) Shape of Trees... - " d) Produchonxfi(am the trees
3. The forest cover in India has recently”'incl‘esased dueto . ¢
a) Increase in natural forest growth s
b) Increase in net sown area ..~
¢) Plantation by different agenc ies
d) None of the above
4. -.What is not entirely eerrectééf'about desert? -
" -a)yltis dry and hot_ 'b) Waterless
¢) Without shelter _ d) All of these
5. Who have leamt" to hve under very. hot and dry conditions
a) People = b) Plants - ¢) Animals d) All of these
6. The term wet land implies- s
a) Land covers by rain water only
b) Slow moving water covered wet ground
c) Water logged wet ground
d) Fast movmg water covered wet ground
Feb
T World Wetland day celebrated every year on ebruary

a) 2™ & b) 3™ c) 4 d) 15"
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World’s most saltiest sea is

a) Mediterranean Sea  b) Dead Sea c) Calliﬁben Sea  d)Black Sea

Atmosphere contains 79 percent Nitrogen and 21 percent Oxygen by

a) Volume b) Weight c)Density d) All of these
In complex ecosystem the degree of spee’_i’és;__diyemity is L WY

a) Poor b) High ¢) Medium d) None

The organisms who directly feed on pmducers are called

a) Herbivores c) Decomposers. ©  d) Sprophytes

b) Carmvfores

Abiotic component mcludes

a) Soil b) Water c) Te\mﬁei‘ature d) All of these

Which of the followmg s the climatic factor

a) Pressure . b) Humidity c) Temperature d) All of these

The basic requlgements of human beings are prov1ded by

a) Industriajlzag:mn b) Agriculture ~ ~° c) Nature d) Urbonization

Which® étr%asphenc sphere is clo sest to.the earth surface?

a) Troposphere b) Stratosphere c) Mesosphere d) Exosphere

A food web consists of

a) A portion ofa food chain-

b) An organism position.in a food chain
¢) Interlocking food chains 3 '
d) A set of similarconsumers ¢ S ” A,

The pyramid ¢fenergy is __
a) Always upnght b) Always inverted
c) Both upllght and inverted d) None of these
Whlelmg the most stable ecosystem T
a) Moﬁntam b) Desett c) Forest d) Ocean
‘Barth Da;y is held every year on g 7
June 5 «, * b)November 23”l ¢) April 22™ d) Jan 10®

Whlch of the: followmg is absorbed by green plants from the atmosphere?
a) Carbon dmmde b) Water- c¢) Nutrients d) All of these

The most commonly used chemicals in the artificial cloud seeding

a) Silver iodide b) Sodium chloride  ¢) Dry ice d) All of these

Bhopal disaster is a kind of
a) Natural dlsaster " b) Manmade disaster c) None of (a) & (b) d) Other

National dlsaster-management is headed by
a) Prime minister
¢) Govemor of states

b) President of India
d) Chief minister of states.
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Disaster management includes
a) Mitigation b) Reconstruction c) Rehabm’&tlﬁ d) All of these

Floods can be prevented by
a) Attorestation b) Cuttiﬁg the forest
c) Tilling the land d) Removing the top soil '

Which of the following is not a type of primary source
a) Crude oil b) Coal %. " c)Hydrogen energy d?*@unhght

Which of these energy resources %re Wldﬁely used in industries?
a) Coal and Gasoline b) Wood  » c)Biogas .7 d) Crop residue

What does OTEC stands for? | .

a) Ocean thermal energy .eultivétion
b) Ocean thermal energy conversion
¢) Ocean techno energy conversation
d) Ocean thermal encrgy consumption

What is the basic requirement for hydro electnc power statlon‘?
a) Reservoir . b) Turbine " ¢)Power house d) Penstock

Photovofﬁaxc cell converts solar energy__mto

( .;"--':f‘}g;'energy d) Chemical energy

a) Coal

Both power and manuré??'i'ﬁf_fprovided by : @ @
a) Nuclear plants - b) Thermal plants:_ 3c) Biogas plants . d)Hydroelectric plant
At what range of speed is the electricity. frmn the wind turbm‘éwis. generated

a) 100-125Mph  b)450 - 600" __°"ii§%1 ¢) 200 —250 Mph  d) 30 — 35 Mph

p— %g?%&

What is used to turn wind energy mto electncal energy..
a) Turbme b) Generator ¢) Yaw motor d) Blades

What type of energy is W“lnd energy"’

__a) Renewable \_ b) Non-Rencwab le “_c) Conventional  d) Commercial
*How is OTEC camsed?
a) By wind energy"- . b) By geothermal energy
c) By solar energy Co ' d) By gravitational force
Series of paralle! combination of the solar cell is known as
a) Solar array b) Solar light c) Solar sight d) Solar eye
Materials used for makm’g" solar cell is
a) Silicon + b) Carbon ¢) Sodium d) Magnesium
Quarries are generally
a) Open pits b) Surface coal mines

c) Underground mines + d) Explosive mines
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40. When the minerals are located to deep in the ground, the method used for mining is

a) Open pit method b) Quarries c) Surfacef'r_n_;i_fiing d) Sub surface mining
41. Major pollution causing agent is g
a) Man b) Animals

¢) Hydrocarbon gases d) None of these

42. The result of ozone hole is
a) Acid rain b) UV radlatlons

.c) Global warming d).:f:_:}__’re“en house effect

43, Which of the following causes out break of jaundice

a) Air pollution b) Water pollutlon c¢) Thermal pollutlon d) Soil pollution
44. Minamata disease caused bypollutlon of water by |

a) Mercury & b) Lead .

¢) Tin

d) Methyl ISD Cyanate

45. Noise is measured using sound meter and the unitis
a) Hertz * b) Decibel _~c)Joule d) Sound

46.  Air pollution.causes ™
a) Globalﬁwmng b) Respiratory problems

c) Sonl erosgon . d) None of t,hese

47. Intake Stlead may primarily cause da.mage of the
a) Brain b) Liver c) Lung d) Kidney
48. According to WHO maximum penn1551ble level Sf ¢hlorides in drmkmg Water is
a) 100 mg/L b) 600mg/L c) 800mg;’L d) 200mg/L

49. The main source of water pollution is
a) Sewage wate
¢) Acid rain

b) Industrial pollutants
d) None of these

What is the health effects of excess. fluoride in drinking water

50. : VLR,
b) Tébthaéhes c) Lung disease  d) Brain problem
51. Bac;ena and micro orgamsms present in water wxll cause in human and animals
'alJndlgeshon ) b) TIntestinal tract - - c) Brain tumor d) Cancer

525+ \,Why it is dlfﬁcult‘mirecycle plastlcs‘?
" a)ltis veryhard -

b) It comes md;ﬁ“erent sizes

c)Itis adheslve

d) It contains” ‘different types of: polymer resins

53. The disposable wastes cog_tain
a) Solids : "b')’Slurries ¢) Liquids d) All of these

54. Identify the foliowmg ones which can be recycled many times
a) Plastic b) Wood ¢) Aluminum d) Organic materials

55. Noise poilutlon limits at residential area -
b)45 dB ¢) 90dB d) 120dB

40f8




56.

5%

58.

59,

60.

61.

62.

63.

64.

65.

66.

67

68

69.

70.

71.

Which of the following make e-waste hazardous in nature

a) Glass b) Plastic ¢) Lead 3,% __ d) Iron
What is the hazardous pollutant released form LED’ s‘? é"*
a)Barium b) Arsenic c)C Bait d) Cadmium

What is the hazardous pollutant released form ]§"atteries?

a) Arsenic b) Cadmium _ ) Copper

What proportion of health care waste is hazardous waste

a) 25% b)15% {hm c) 50% . d)80%

What is the hazardous waste rel%ﬁsed”from telephones Cony

a) Barium b) Qop;i‘er ¢)Lithium = d)Lead
, &

Which of the followmg cﬁhtalns most water A

a) Atmosphere b) Biosphere c) Groum:l water  d) Lakes and Rivers

Hard water contains: large amount of i ¢
a) Lead /% " b)Sodium ) Calcium d) Silicon

Water that.is good enough to drink is called.
a) Potable water b) Ground water c) Surface water  d) Artesian water

The pH value of acid rain water Jg y

2) 5.7 b)7.0 975
The primary cause of acid.rain around the world is w‘%
a) CFC (1) SO, d) ©;

Acid rain can be controlled by

a) Reducing SOzand NO; emissions
b) Reducing oxygen emissions

¢) Increasing number of lakes

d) Increasmg the forest cover

The effect of acid rain
a) Reduces soil fertility 3
b) Increases atmospheric femperature

_“¢) Causing respiratory problem
.«d) Skin cancer

Major compoun&responsxble for th’é‘ﬁéstructmn of stratospheric ozone layer is

a) Oxygen 1% 4 b) CFC* ¢) CO, d) Methane
Ozone layer thlckness is measured in
a) PPM b) PPB c¢) Decibles d) Dobson units

Normal average thlck:r}ess of stratospheric ozone layer across the globe is around
a) 5 PPM ¢ b) 300 DU c) 400 DU d) 500 DU

Chloro Fluro (;arbén’s (CFC) are
a) Non-toxic . b)Non - Flammable
¢) Non Q',ercinogenic d) All of these
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72. Breathing radon over time causes N
a) Lung cancer b) Oral cancer ¢) Skin canggs

d) All of these

73. Radon gasis o & 7
a) Inert - b) Colorless c) Odorless d) All of these

74. Ozone depletion causes
a) Snow blindness
¢) Acid rain

E:b) Photochemical smog
d) Vomiting w

75. World ozone day is observedon .. = -
a) November 16 b) Octobg iﬁ c)Janl6 .~ _ d) September 16

76. A great way to reduce acid ram is -
a) Use of solar power
b) Use of wind power
c¢) User of hydropowc
d) All ofthese <

77. Ozone laycr was _ N,
a) Arctic " “ ' b) Antarctical
%Rggion . d)Africa

78.

c¢) Ozone depletion -

d) None Qf these

79. Formation of ozone 1aye "s explamed by
a) Rosenmund reaction
b) Henderson’s reaction
c) Chapman’s reaptmn
d) Perkin’s reaction

80. The main cause of acid rain is .,
a) Sodjpdllpt:on b) Wal‘ef pollution  c) Air pollution d) All of these

81. Remotesensing tcchmque makes use of properties of
2) Electric waves : cmanld) Sound waves
) Electromagnetxc wavss .« +d) Wind waves

82?3’i§The attitude distan ofa geostationary satellite from earth is about
; b) 30, 000 km . ¢) 36000 km d) 44000 km

83.
a) Spectral vﬁnanon ; b) Spatial variation
c¢) Temporal variation d) None of these

it

84. Which one of the folloéﬁgé helps to find objects on the earth surface
a) Atmospheric window b) Signature
c) Rad1ometnc ermr d) None of these

85. Orbital rachus.of GPS satell:tes is approximately _
a) 15000km * b) 26600km * ¢) 18400km d) 36100km
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GIS stands for

a) Geographic Information System
b) Generic Information System

¢) Geological Information System
d) Geographic Information Sharing

GIS deals with what kind and data

a) Numeric data b) Binary data . ©) Spatial data dlﬁﬁ%ﬁ?plex data
Among the following  is examplg of hardware -

R
a) Arc GIS b) Auto CAD c) Dlgltization “. d) Mouse

Among the following which _dgéngvf; come under componentﬁ“ [ GIS?
¢ c) Compllcf d) Data

asg;, :

a)2-5 yaars N b)10-15 years c) 510 years d) 5 -7 years

EIA commenced in the year

a) 1 960 % b) 1 890‘%;33,%3

d) 1950%s

%:.Q(
g By

How many strategies are there in EIA
m
a) 5 %)3

rY

Which is the first Coumry to pass the Amentlment in the

environment?

a) India b) Brazil - d) Denmark

ISO 14000 standards are for they,
a) Qua tyManagement Systcm v

c) Administration

Who among the fo‘liowmg is the most eclebrated environmental activist in contemporary
India? g
a) Anna Hazare fay
b) Medha Patkar
¢) Vasundhara Raje

d) Arvind Kejrival

What is the full form of NGO?

a) Non — Govergrg;ggtél Organization
b) No Govemap,_ce@rgamzatnon

¢) Non-Governance Organization
d) Null Governmental Organization
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When did Green peace founded 4
a) 1965 b) 1967 ¢)1968 & 7 d)1971

When did Wild Protection Act included in the Cons_tiftu;_tiﬁn of India.
a) 1980 b) 1972 11920 d) 1992

When did World Nature Organization (WN@}be established?

a) 2000 b) 2001 % "©)2010 d)2014
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